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Grade 7 EoT Exam Coverage
Term 2 Revision Module 5 - 8
Mathematics/Reveal
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Part (1) |
10 main questions ..
3 Marks per main question

MCQ




Simplify algebraic expressions by identifying and combining like terms Q3-8 RIEwpZLyl

Simplify each expression.

3.-y+9z-16y-252+4

4.8 +x-5-9z2+2

5.5¢-3d-12c+d-6




Simplify each expression.

3 1,7 1
6. ——x—-+-x—=
4 3 8 2

7.5 4
4

9
10y

3

5

7
y+3




n Use different methods to add linear expressions Ql-3 RCEpLE

Add.

1. (8x +9) + (-6x — 2) 2. (5x+4)+ (-8x-2) 3.(-7x+1) + (4x - 5)




Write one-step equations involving integers and rational numbers and use
. e ERE8 : WM paoe 287
inverse operations to solve the equations

Solve each equation. Check your solution.

1.6+y=-8 2.-12=4+c 3.p—11=-5 4.12=7-8




n Use GCFs to factor linear expressions Q7-12 REEERAE

Factor each expression. If the expression cannot be factored, write cannot be
factored

7.5x + 35 8.8x-14 9.3x+ 11y




n Use GCFs to factor linear expressions Q7-12 REEERAE

Factor each expression. If the expression cannot be factored, write cannot be
factored

10. 32x - 15 11. 72x — 18xy 12. 45xy - 81y




Write one-step equations involving integers and rational numbers and use as-7 Ly,
inverse operations to solve the equations 8

Solve each equation. Check your solution.

5.-7x =56 6.-20=-5b 7.2 — _¢




Use inverse operations to solve one-step addition and subtraction
inequalities

Solve each inequality. Graph the solution set on a number line.

1.x+5<7

2.1>x+6

3.x+82>14

1 | | l
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-8 -7 —6 =5 —4 —3 —2 —1

Ql1-6 BUCEEEEE)

A

Ul 4=
o) —+
00 —+
O -+
o+




inequalities

Use inverse operations to solve one-step addition and subtraction

Solve each inequality. Graph the solution set on a number line.

Ql1-6 BUCEEEEE)

4.5<x+12

5.x+54<-1.6

6.x+7.5>-25
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Use inverse operations to solve one-step multiplication and division

inequalities with positive coefficients.

Solve each inequality. Graph the solution set on a number line.

Q1-6 BCEEEERS

1.3x>12

2.60=12x

3.-14 > 7x

| | | |

| L | | | | |

G | I |

-4 -3 -2 -1

I I L i | I I I

4 5 6 | -4 -3 -2 —
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Use inverse operations to solve one-step multiplication and division
7 p. o . " > p Ql1-6 BUCEEERE
inequalities with positive coefficients.

Solve each inequality. Graph the solution set on a number line.

4.2 < 0.25x 5.1.1x< -4.4 6.2 >2
6
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equations to find unknown angle measures

u Identify vertical and adjacent angles and use them to write and solve

Q14 BRCEEE ]

1. Name the angle in four ways.

2. Name the angle in four ways.




Identify vertical and adjacent angles and use them to write and solve
equations to find unknown angle measures

Q14 Page 401

3. Refer to the diagram below. ldentify
three pairs of vertical angles. Name all
the angles that are adjacent to £10

4. ldentify three pairs of vertical angles.
Name all the angles that are adjacent to
Z3.

A
Y




Identify complementary and supplementary angles and use them to write
. . Ql1-6 WCEEK N
and solve equations to find unknown angle measures

Give the measure of the angle that is complementary to the given angle.

20°
45° < 54°




Identify complementary and supplementary angles and use them to write
. . Ql1-6 WCEEK N
and solve equations to find unknown angle measures

Give the measure of the angle that is supplementary to the given angle.

4, 5. 6. E
\ 160° 50°
P>

128°




Classify and draw triangles freehand, with tools, and with technology given
certain conditions, such as angle measures or side lengths

Q9-14 WECT-CXYY!

9. The figure shows the Oak Creek trail, which is
shaped like a triangle. Solve the equation
61 + 78 + x = 180 to find the value of x in the
figure. Then classify the triangle by its angles
and by its sides.

Rocky Peak

Trail Head

10. The three towns of Ripon, Sparta, and
Walker form a triangle as shown. Solve the
equation 38 + 104 + x = 180 to find the value
of x in the triangle. Then classify the triangle by

its angles and by its sides.  Ripon




10 Classify and draw trla.n.gles freehand, with tools, and Wl?h technology given NPl Page 422
certain conditions, such as angle measures or side lengths
11. Reason Abstractly Without drawing the | 12. Find the value of x in the diagram. Then,

triangle, how do you know a triangle with a 95° | find the supplement of the missing angle.
angle, a 95° angle, and a 5-inch side is not
possible?

x° 509




10 Classify and draw trla.n.gles freehand, with tools, and Wl?h technology given NPl Page 422
certain conditions, such as angle measures or side lengths
13. Justify Conclusions Construct an argument | 14. Draw a triangle with one angle greater than

to explain why it is possible for a triangle to | 90° and no congruent sides. Then classify the
contain three acute angles. triangle.
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Part (2) |
10 main questions ..
5 Marks per main question

MCQ




Simplify algebraic expressions by identifying and combining like terms Q9-14 BRI

Use the Distributive Property to expand each expression.

9.2(-3x+5) 10. 6(-4x + 3y) 11. (3y - 22)5




Simplify algebraic expressions by identifying and combining like terms Q9-14 BRI

Use the Distributive Property to expand each expression.

12. (-2x - 7)4 13. -7(x - 2) 14. -3(8x - 4)




Use different methods to add linear expressions Q4-9 RCIEwpLE

4. (-3x-9) + (4x + 8) 5.(-5x+4) + (-9x - 3) 6. (-2x + 10) + (-8x -1)




Use different methods to add linear expressions Q4-9 RCIEwpLE




Write one-step equations involving integers and rational numbers and use
13 Ped e ERE8 : a7-12 BYLY,
inverse operations to solve the equations

Solve each equation. Check your solution.

d _Z .- _q1
7. =-6 8.15 = — 9.2-x =—1-




Write one-step equations involving integers and rational numbers and use
13 Ped e ERE8 : a7-12 BYLY,
inverse operations to solve the equations

Solve each equation. Check your solution.

10. —6 = gy 11. -6 = 0.2b 12. -0.8n = 2.8




14 Write two-step equations of the form px + q.= r and use inverse operations to WAl Page 305
solve the equations

5. A hot air balloon is at an altitude of 100% 6. The current temperature is 48°F. It is

yards. The balloon’s altitude decreases by 102 expected to drop 1.5°F each hour. [?etermn:e In
5 | how many hours the temperature will be 36°F.

yards every minute. Determine the number of
minutes it will take the balloon to reach an
altitude of 57 yards.




. ) . P . .
14 Write two-step equations of the form px q. r and use inverse operations to R Page 305
solve the equations

7. Mariko and her friend spent $24.50 on lunch.
Their lunches cost the same amount, and they

used a $4 off coupon. Determine the cost of
each lunch.




Use inverse operations to solve two-step equations of the form p(x+ g) =r Ql-6 BCIEEIN

Solve each equation. Check your solution.

1. 4(x + 8) = 44

2. 7(x + 8) = 49

3.-2(x+4) =18




Use inverse operations to solve two-step equations of the form p(x+ g) =r Ql-6 BCIEEIN

Solve each equation. Check your solution.

4.10(x - 5) = -80

5. -5(x — 10) = -35

6.-9(x—4) = 81




Use inverse operations to solve one-step multiplication and division
inequalities with negative coefficients

Solve each inequality. Graph the solution set on a number line.

Q1-6 BUCEEE]E]

1.-6x > 66

2.-12 <-3x

3.-4x 2-36

| | | | ! 1 | l 1 | |

1 1 1 1 1 1 I 1 1 1 1

=15 =14 =13 =12 =11 =10 =9 =8 =/ —=6: =5
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Use inverse operations to solve one-step multiplication and division
inequalities with negative coefficients

Q1-6 BUCEEE]E]

Solve each inequality. Graph the solution set on a number line.

4.3 >-0.4x

5.-2.2x<-6.6

6. —>2
-8

L 1 i ) 1 . | J I | !

N-n—

- g

o+

1 1 1 T 1 Ll 1 1 T ) 1
—1g =18 ~ =16 =15 =14 =13 —12 =H =10 -9




operations to solve the inequalities

Write two-step inequalities from real-world situations and use inverse

Solve each inequality. Graph the solution set on a number line.

Ql1-6 BCEEELE]

1.-3x—3>12

2.-4<4x+8

3.6.5x—11.3<8.2

N-n—
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Write two-step inequalities from real-world situations and use inverse
17 pineq . . o Ql1-6 BUCEEELE
operations to solve the inequalities

Solve each inequality. Graph the solution set on a number line.

4.-2.45x+3.2<-6.6 5.1, _

X
" 10

6

+=2

IA
| u
e
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Identify vertical and adjacent angles and use them to write and solve
equations to find unknown angle measures

Q3-6 BUCEEE k]

3. Refer to the diagram below. ldentify
three pairs of vertical angles. Name all
the angles that are adjacent to £10

4. ldentify three pairs of vertical angles.

Name all the angles that are adjacent to
Z3.

A
Y




18 Identify vertical anfi adjace.nt angles and use them to write and solve R Page 401
equations to find unknown angle measures
5. Write and solve an equation to find the | 6. Write and solve an equation to find the

value of x. value of x.
115°

120° ¥ (2x)°

(2x + 5)°




Use inverse operations to solve one-step addition and subtraction
inequalities

Solve each inequality. Graph the solution set on a number line.

1.x+5<7

2.1>x+6

3.x+82>14
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inequalities

Use inverse operations to solve one-step addition and subtraction

Solve each inequality. Graph the solution set on a number line.

Ql1-6 BUCEEEEE)

4.5<x+12

5.x+54<-1.6

6.x+7.5>-25
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write one-step addition and subtraction inequalities from real-world SWH Pace 347
situations and use inverse operations to solve the inequalities 8

Solve each problem by first writing an inequality.

1. Gabe went to the amusement park with $40 | 2. Drew practices piano at least 45 minutes per
to spend. His ticket cost $26.50. Determine how | day. He has already practiced 18.5 minutes
much Gabe can spend on souvenirs and snacks. | today. Determine how much longer he will have
Then interpret the solution. to practice. Then interpret the solution.




write one-step addition and subtraction inequalities from real-world SWH Pace 347
situations and use inverse operations to solve the inequalities 8

Solve each problem by first writing an inequality.

3. dolphin is swimming at a depth of -50 feet and | 4. Elena’s account balance with her parents is -
then ascends a certain number of feet to a depth | $5.50. she adds a certain amount of money to her
above -35 feet. Determine the number of feet the | balance by mowing the lawn. Elena now has an
dolphin ascended. Then interpret the solution. account balance less than $20. Determine a
possible amount she earned mowing the lawn.
Then interpret the solution.




5
o
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Part (3)
3 main questions
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(6-8) Marks per main question

FRQ




Combine operations to simplify linear expressions (oA Page 271

Simplify each expression. For Exercises 1 — 4, write your answer in factored form.

1. 3(x + 4) + 5x 2.-4(x + 1) + 6x 3. -5(2x - 6) + 25x




Combine operations to simplify linear expressions (oA Page 271

Simplify each expression. For Exercises 1 — 4, write your answer in factored form.

4.2(-8x-3) + 18x 5.%x+%(§x—4) 6.2(6x—§)+3x




ﬂ Use different methods to subtract linear expressions Q49 RCIEwEY

Subtract.

4. (8x +9) - (6x — 2)

5.(3x-4)-(x-5)

6.(3x-4)-(x-5)




Use different methods to subtract linear expressions Q49 RCIEwEY

Subtract.

7.(-7x-14) - (x - 5) 8. (-7x - 14) - (x - 5) 9_(§x+§)_(1x_1)




E Use inverse operations to solve two-step equations of the form p(x+ g) =r Q19 BREEEIR

Solve each equation. Check your solution.

1. 4(x + 8) = 44

2. 7(x + 8) = 49

3.-2(x+4) =18




E Use inverse operations to solve two-step equations of the form p(x+ g) =r Q19 BREEEIR

Solve each equation. Check your solution.

4.10(x - 5) = -80

5. -5(x — 10) = -35

6.-9(x—4) = 81




E Use inverse operations to solve two-step equations of the form p(x+ g) =r Q19 BREEEIR

Solve each equation. Check your solution.

7.0.4(x—7) =18

8.-0.25(8 + x) = 14

9.-0.8(10 - x) = 36
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